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p.7 0000

() 000000000000 000
minimize 2z = Ty; + 8y2 + 9y3

subject to Y1 + y3 =>4
2y1 + Y2 >3
20+ yz3 =2

yl:Dljlj':lquaySZo
(h)OOUOOOOoOoOoooooooo
maximize z = Ty; + 8ys + Yy3

subject to Y1 4+ y3 <4

21+ Yo <3
2+ y3 =2
y1:0000,y2,y3 >0
p.8 0000

(.a) 00000000000O0OO

minimize z = — 1z — 222

subject to -1 — To+z3=1

x1,%2,23 >0

goboobooboobbooboonbobo

maximize w= 1
subject to -y < —1
-y < -2
y1 <0
y1:0000
(I-b) 000000 O0OO0OOOOOOO
minimize z = —x] — 2%
subject to —T1— x9—x3=1

x1,%2,23 >0

goboobooboobobooboonbobo

maximize w= 1
subject to -y < -1

—y1 < 2

-y <0

y: 0000
(lc)D00O0DO0OO0ODOOOOOOO
minimize 2z = —4x — 274 + 22}
subject to 2wy + 2xh — 22l + 51 =4

3x1 + 62 — 625 —s9 =9

/ !
X1,T9,To, 51,52 Z 0

gboboboboooboooboooooo



maximize w = 4y; + Yy

subject to 291 + 3y, < —4
2y1 + 6y2 < -2
— 2y — 6y <2
(0 <0
— y2<0
y1,yo : 0O Q00
(I-d) 0000000000000 O
minimize z = —3x; — bwg — 4dafy + 4af
subject to 4dx1 + 2x9 + 32 — 324 + 51 =6

—3x1 + 4xo — Hakh + 5af — 59 =2
/ !
Z1,T2,T3,T3, 51,52 > 0

gboboboobooobooooboooooo

maximize w =  6y; + 2y
subject to dy; — 3y2 < =3
2y1 +4y2 < =5
3y1 — Sy < —4
—3y1 +5y2 < 4
(1 <0
— y2<0
Y1,y : OO0
(le)DO000ODOOOOOOODOOO
minimize 2z = —4x1 — bxo
subject to 211 + 229 + 23 =4

3x1+6x04+14 =8
r1 +4re+ 15 =4
X1,22,T3,T4,T5 Z 0

gddooodoooooouoooouoon
maximize w = 4y + 8yo + 4y3
subject to 2u1 + 3ys + y3 < —4
2y1 + 6y2 +4y3 < =5
(1 <0
Y2 <0
y3 <0
y1,Y2,y3 : 0000

(1-H)0ooooooooooooo

minimize z = —4x1 — 2x9
subject to 1+ x9+ax3=238
X1 +x4=206

xr1 + 229 — x5 = 2
T1,22,T3,T4,T5 Z 0

goboobooboobbooboonboo



maximize w = 8y + 6ys + 2y3

subject to Y1+ yo+ ys < —4
(1 +2y3 < -2

Y <0

Y2 <0

— y3<0

y1,y2,y3: 0000
(2) 00 p.6 000

p-15 0000
0000000000 0000000000
minimize 2z= —x1 — 2x9
subject to T+ x9—23=1

£1,T2,T3 > 0

ubboobodgboobbooboobog

maximize w= Y
subject to y1 < —1
y1 < =2
-y <0
yp: 0o

gbobo3ogooooooobog ywoboboboboboboboboboboo
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p.15 0000
() JO0OO0OD0O0O0OO0OO0D0OD0O0OOOODODOOO
minimize z = — 1z — 222
subject to —x1— Totx3=1

x1,%2,23 >0

goboobooboobobooboonboo

maximize w=
subject to -y < —1
—y1 < =2
y1 <0
y1: 0000

goboo30gpbooooonb ywOoboobooobooboooobooboon

U booboobboobooobbooboon

(b DODODODUDOOOUOOOOOOUoOOoO



minimize 2z= —x1 — 2x9
subject to —T1— x9—x3=1
x1,w2,23 > 0

ubboobooboobboobooboo

maximize w= Y

subject to -y < -1
— 1 < =2
-y <0
y1:0o0on

oboooo 30000 yw>220000000000000000000000DO00O00ODOO
gobooobooooonobooboonoog
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